2.6 Modeling with I liti

Examples:
1. Five times a number, decreased by 24, is greater

than 3 times the number. Find the possible numbers.
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2. Sara has $53.50 in her pocket and wants to purchase
shirts at a sale price of $14.95 each. How many
shirts can she buy?
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3. The length of a rectangle is 5 cm more than its
width. The perimeter of the rectangle is at least
66 cm. Find the minimum measures of the length
and width.
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4. Mrs. Scott decided that she would spend no more than $120
to buy a jacket and a skirt. If the price of the jacket was $20
more than 3 times the price of the skirt, find the highest
possible price of the skirt.

(64' X =price o‘pSkirf
Bx+20= price op\jacke,‘t
e +(39<+20> <120
X+Ix+20<120
N+ 3% <4 120-20

Uy 100
X< 8= “The h?ﬂhesjr price
XEDS of e skirk is $25

HOMEWORK

Worksheet - HW 2.6 Modeling with
Inequalities




